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2. The following chart represents the weight W (Ibs.) of a newborn baby as a function
of time t (months).

W (Ibs.)
A

6 A

{1

-+
N

EL + q % C.’ -+ g + ‘40 $ ‘:‘;Lﬁ‘ ‘(_’ (W\OY\'H'\ S)

a. What is the baby’s weight at birth ? after 3 months ? after | year ?

b. What is an estimate of the baby’s growth rate (Ibs./month) at birth ? after 3
months 7 after | year ?

c. When is the baby growing at the fastest rate during its first year of life and what is
an estimate for this rate ?
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1. Use the given graph of function f to sketch a
graph of its derivative, f’.
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Use the given graph of function f to sketch a
graph of its derivative, f’.
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V= 26,644,293 g3 (Gex)
(otgw.j;(mp- 0.7 demady Loodun o

rrefoms_ sotan = 0,917 Ao g )
V= 29,432.770 63 (tan) |
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[sSAl[: 028 KE.= 4wy

a.) New K.E.= -i(lm)@\/)l: | 8 (%_mv‘)
- = 19 (0s% KE) |
b) Newr K.E = i(l.‘{m)(O.’?S'V)"
= 0.7875 (gzmv?) = 072325 (04 K-E.)
e KE. decnadan, Ay 0.2125= 21.25% |
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